AN

@&Q/

@M

~<on
=—la) bow

ASSEMBLY INSTRUCTION

MODEL : DTC 333-S5V - ELLA COMMODE 2 LADEN, 2 D/P / CHEST

SOFT.DRY CLOTH CHEMICAL } HEAT KEEP DRY HANDLE WITH CARE DO NOT USE KNIFE
T

wA B |C D [E [F G |H | b, K L L B L3 N . |0 P |Q R
< 12MMy | F16MM1 | - 20MM | - 25MM 35MM— | - 40MM—y| 1~ 50MM - T preew “om P )
S e MMMMMLNQEMQ%%% e R e ﬁ/é/ ®¢4¥
QO | puastic | cs cB cB c8 [9):] METAL N HANDLE HANDLE
0OC | DOWEL SCREW | SCREW | SCREW | SCREW SCREW | CSKCAP | CSKCAP | SHELF ABS DRAWER HANDLE FZ 23187 SCREW SCREW | HINGES %" POWER
< | mex25 M3.5X12 | M3.5X16 | M4X20 M4X25 M4X35 M6X40 MEX50 SUPPORT MINIFIX 5654 PIN (15MM) (126MM) - METAL M4X24MM  M4X40OMM | (INSIDE) DRAWER SLIDE 14" CAP NAIL 6/8 | PLASTICPIN | ALLEN KEY
I | 1X37 | 1X24 | 1X16 | 1X4 1X8 1X16 | 1X7 1X6 1X8 13 SETS 1X2 1X4 1X4 1X4 | 4 SETS 2 SETS 1X8 | 1X70 1X5 1X1

RIGHT VIEW

STEP 4

LEFT VIEW

RIGHT VIEW

LEFT VIEW

RIGHT VIEW

LEFT VIEW

RIGHT VIEW

PAGE : 1/3




T J— ! .‘:‘", . : [ T
N oo 8 B M Mg M) X ASSEMBLY INSTRUCTION
AN RSl [ (=N Y =
SOFT.DRY CLOTH || _ CHEMICAL HEAT KEEP DRY uﬁmcws DO NOT USE KNIFE MODEL : DTC 333-S5V - ELLA COMMODE 2 LADEN, 2 D/P / CHEST
STEP 6 STEP 7 STEP 8 STEP9 STEP 10 STEP 11

FRONT VIEW

@

<maa1u?m0 —

BOTTOM VIEW

STEP 12

STEP 13

PAGE : 2/3




ASSEMBLY INSTRUCTION

MODEL : DTC 333-S5V - ELLA COMMODE 2 LADEN, 2 D/P / CHEST

STEP 18

A
SUETTVTY

[k

BACK VIEW

X

W

w

IJJ g

2

[e]

4

o

o
NI
%

[freve- (8]
z

e =
SS9
N
o

(i“‘ﬁ y
Q.

P ul
N o2

COMPLETED

HEAT

CHEMICAL

SOFT.DRY CLOTH

STEP 16

I\ < = )
®/ NI (&N
*/‘ r""; 1“;/\’; 78 1’;{@
- \ \l/l o \ "1\ )
4 »F/Z: . \(;P) _ 1
\ ~
T
|
S ’/@m71//\\\ @\
S \ \ \\ .\\ \\ 5 /I ////
> (8 o\ \ . /
Y[R A A ___m_< //
\ N /7 \\ // ’/ ﬁ
| [T@\\ e
w
A
/A

STEP 20

p— :l‘
h N/
I\ I I
\\ o L
\\ rf._-‘ = /.——<
N \—‘I_‘\i. \) // \
t‘\\*ﬂ /_‘
o Bk
@ T
VA :
i

STEP 19

PAGE : 3/3




